
 3/16 HEX JACK SCREWS 

 

    Order Code: 
      

 

SUPPLIED WITH
  TWO (2) #4 FLAT WASHERS
  ONE (1) #4 LOCK WASHER
  ONE (1) #4-40 NUT

SUPPLIED UNASSEMBLED

MATERIAL
  STEEL QQ-S-637

FINISH
  ZINC PLATE PER ASTM-
B633 
  (YELLOW CHROMATE) 

Select PART
NUMBER B

4750-1 3/16 

4750-2 1/4 

4750-3 5/16 

4750-4 3/8 

4750-5 7/16 

4750-6 1/2 

4750-7 9/16 

4750-8 5/8 

4750-9 11/16 

4750-10 3/4 

    © 1999 RAF Electronic Hardware All Rights Reserved 
           Seymour CT 06483   203 888-2133   Fax: 203 888-9860   www.rafhdwe.com  

javascript:OpenCloseUpWindow()
http://www.rafhdwe.com/RAF_site/OnlineCatalog/EHMasterFrame01.cfm?PART=js&CYCLE=1
javascript:GetQuote()
javascript:OpenClosePage('PartNoHelp.cfm')
javascript:OpenClosePage('MaterialSpecs.cfm')
javascript:OpenClosePage('MaterialSpecs.cfm')
javascript:OpenClosePhoto('../images/pg114b.jpg');

	Local Disk
	file:////Altius-05/d/Ae01%20Source%20Files/RAF%20ELECTRONIC%20HARDWARE/SCREW.htm


	EGFHEBGHHAFMFMNBMODNDGPIENCFAOIPIB: 
	form1: 
	x: 
	f1: 
	f2: (code is blank)
	f3: Off





